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—
Mz

DHBEAHIA BE P
Rl DHEE RS 2E (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
01 At2t2ltl 9,956 9,956 0
SRS 9,956
Opigol M8 =S M
(175220001 = 122 )+( 14024 5001 = 122 ) ) x90%
454
OQIJl ME ARI1J] 23] 2,750
- MRIDIEY 150,000 *3CH+53] 2,250
“APRI1DI =2l 500,000& 1 500
OBlga &A 2l 1,29
-2 12,0002 x35+ 12«12 432
SN 4,000 x25+42 122 384
IEIDN 20,0002 425+ 122 480
ODlgEa AUZEZ sF 7Y U 22
150,000& * 12 1,800
OH=0Is SSutA 2o
125,000« 128 1,500
ool Ha| B2l 756
1218 fM=s2 Do
20,0003 %123 240
2Ea ) gtz
43,0002+ 1CH* 122 516
OPIRA oIXt & AT} AIE
10,0002 *30 4 +23] 600
O=stdicicl2d A28 s #Y
100,000 +82] 800
301 EtE2 N = 14,919 11,033 3,886
0 AMSRREES 14,919 11,033 3,886
oud ot & FIH SU=ZFRA 14,919
O == 1,000,000 x1&*12& 12,000
OsAltl 7,0003 2L x1H 12 1,848
OulSH| 2,800 x22x 1 x 12 740
Ooul=l 330,720 %1 331
401 AlZHIZ SO 7,000 0 7,000
01 A28l 7,000 0 7,000
oglET ol 2stxrel EX(ET 122R)
7,000,000 * 14 7,000
405 AHaHE S 6,900 2,400 4,500
01 AL =S F = 4,500 0 4,500
OLEA HOIZ & 2A 7Y 4,500
O4l—¢ 500,000 67K 3,000
Otlols & 2Kt 100,000 *15H 1,500
02 =A-EHI 2,400 2,400 0
oles 7Y
(60,0002 +302 )+(40,000& 132 )+(20,000& * 1
2 )+(15,000& x4 ) 2,400
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2A:

M ZAO| DMDIEAHIA B P
Rl DHEE RS 2E (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
IIEZASEAMRHE X 35,113 5,790 29,323
= 35,113
201 et 3| 35,113 5,790 29,323
= 35,113
01 AtR2te|Hl 21,918 5,790 16,128
Odgt+=H| 21,918
OIIFAASE SIOM 24 Iy
5,000 60T x565 1,500
= 1,500
OJIBAASE MIOMFE HX Y
10,0003 x5 * 105 500
= 500
OINESASELUEE= 2
1,500 +5,000% 7,500
= 7,500
ONBHHES MR8 S5F MH(2ERS
LS
(851%5,0000H )+( 1258 +5,0000H) 1,050
= 1,050
OAIFAIY "MEZ F20I" M
3,500 *550H 1,925
= 1,925
OE2AM1D HsJI 88 2l
20,0003 * 122 240
= 240
OIIEHASELRE AR 225 &
NFES 7Y 9,203
ARE EH # EERUE
(150,000 *3CH+63] )+(255,000+3CH*131) 3,465
= 3,465
- FAEX 18,0002 ¥ 102t Ax 122 2,160
= 2,160
MNPES 3,578,000& 1 3,578
= 3,578
2 S5=2g4l 13,195 0 13,195
OA&EHIs X 13,19
ORQIeIAeZI| RA24=H|
(145,000 +7CH* 122 )+(145,0002 * 1CH*7 )
13,195
= 13,195
AR CHEH 18,089 6.487 11,602
= 16,298
- 1,791
101 @124H| 14,041 0 14,041
= 14,041
M ORINZZ2NSE S 14,041 0 14,041




SN IAF P
M ZAO| DMDIEAHIA B P
oelr DMEE RS 2 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
O AHUACHFEL0] 1AH| 14,041
OFJI==) 76,9603 1 *132& 10,159
= 10,159
O=% - dx=¢ 76,9602 x1&+32& 2,463
= 2,463
OAMEXNRYE S 1,419
- =3 12,622,0002 *4. 5% 568
= 568
22 12,622,000 *3.545% 448
= 448
RLES 442 0002 *12.27% 56
= 55
NEEE 12,622,000 *1.75% 221
= 221
AHEE 12,622,000 * 1% 127
= 127
201 er23| 4,048 6,487 A2,439
= 2,257
- 1,791
01 AtR2telHl 4,048 6,487 A2,439
Odgt+=H| 4,048
OARES #¢ 1,000,000& x1& 1,000
= 1,000
O 2t MAl 2l
502 +35+10,0000H 1,500
= 1,257
- 243
O=AEXN 7Y 18,0003 x3H Ax 122 648
Oo&H s 7¢ 150,000 *2CH*3=] 900
ANy elZel A= 1,035,163 942,849 92,314
HYEZZAIAHS OHEA 2H 424,804 459,428 A34,624
HHEHZAIAE RX2el 424,804 459,428 A34,624
201 2= 314,335 323,510 N9, 175
01 AtR2t2lt] 3,488 8,708 A5,220
Ogt=3H| 3,488
OAR2d =3-8H| 2,000
FHAD| BHEE HOIZ S 7
2,000,000& %1 2,000
OSHIOIKl 0o A2t At EZ
57,2002 14 58
OZHIOIXl 22IISAHIA OlER
550,000 1= 550
OZHIOIXl OtO|HRISAHIA Ol8=
550,000 * 1= 550
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2A:
X XH -
o e

=aak

S - EE - BRI(EH) - AIRAY - BAS of v e HIDE2
OMsdAFE T 2210SAHHIA 0l
= 330,000 14 330
02 S3=gHl 310,847 314,802 A3,955
0BIR3 39,600
OogRgRA0l SXLEE
3,300,000& «12& 39,600
OA&EHISs X 271,247
OPC 43,554
HIA3E 2 LES
1,088,849, 5803 *4% 43,554
OANH & JIEHEH 110,444
- 2UetAIAE 20,738
-kt 95,419,000 8% 7,634
-2dS/W 109,200, 0002 *12% 13,104
SSAECIXN 275,000,000 *8% 22,000
SEAECIX2
(159,000,000 *8%)+(45,745, 0002 «8%+8& / 12
g) 16,160
PHFS A= PAIAE 10,090
~AB, AE2IX 113,000,002 8% 9,040
~FCIP 15,000, 0002 7% 1,050
CEECIADWOIA A
95,055,000 x10%8& / 128 6,337
- MBI BHAI A 9,104
- At 71,572, 0002 +8% 5,726
2SS/ 28, 160, 00021%12% 3,378
 REASEBRAIA 19,841
~AB (H/W 96,800,000 8% 7,744
-2S/W 81,772,200 *12% 9,813
-2S3S/MW 19,030, 0002 *12% 2,284
DBEZ NI AIAES 7,174
A 2 JIEHEH 11,596, 0002 8% 928
-2dS/MW 52,050,000 *12% 6,246
O A Y 5,761
SHUMAEXI(UPS)
34,320,000 7% 2,403
g=asl 47,968,000 * 7% 3,358
OdlsX&Ez 91,945
- SENHAACIAAY
11,810,000 *12% 1,418
HAIBEFHEI|IS2 AAE
67,900,000 *12% 8,148
- SERI2CIAAEY
52,140,000 *12% 6,257
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2A:

) olma) p=
ol AAEIOl OHE N 2H (SH &)
CBB - S(B) - HIRAY - BAS Ofl aro e HDE2
- 2elRE HEA 39,000,000& *12% 4,680
c NHEZHAHAIAE
56,276,000 x12% 6,754
R A HE S A AE]
29,800,000 x 10%+3& / 12& 745
- GRAR|0IAIAE 2HES/W
19,013,000& *12% 2,282
PCEE ORI Al AE
43,740,000 *12% 5,249
- PCOHOI A E 22| Al A El
41,072,000 x12% 4,929
- AMHINA R E 22| Al A Sl
15,000, 000& *10% 1,500
- HOHSB 22| AlAE]
32,160,000 *10% 3,216
- BEAR RS 22| Al AE
35,000,000& *12% 4. 200
- 812 101 A AL (SS0)
15, 150,000 *12% 1,818
- ZEH0IK 2ME0
17,160,000 *12% 2,060
- ZH 0| Xl 2EI=x 185,400,000 *12% 22,248
- ZH 0| X| DBEOHA|AE
23, 100,000& *10% 2,310
CEEEIEENPR-
24,500,000& *10% 2,450
- QR OIBHOIA| AE 12,295,000 *10% 1,230
. QISOIIAIBIAIL] BHOIAI AR
7,735,000 x10% 774
QIE8t H|O| ZBH A AY|
13, 161,000 * 7% 922
QORI TICHA| AEl(BlEI )
21,340,0002! x 10%+3& / 122 534
- QI ALRIQIBET| A AEN(|PS)
34,210,000 *10% 3,421
- ZHIOIXl I HEXIEHERA
21,600,000 *10% 2,160
EHOIX Eatzte| 28
22,000,000 *12% 2,640
OBWS RAIEx== 19,543
- 2Lich, PSASESEAIAE DBMS
132,988,000 *14% 18,619
S HIO| Xl DBMS 6,600,000 *14% 924
XHHSOIA 110,469 135,918 N25,449
J|2SOCHSHE A A 2 EFAIEHI 110,469 135,918 N25,449
T R0IAIAE X2l (SH=2XIE A EIN
&) 5,600,000 14! 5,600
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2A:

3 xo*l_‘?'_% A2l NEst
Chel: 2SS4 2t EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
2SS 2E 142,238 126,530 16,708
201 er23 | 142,238 126,530 15,708
01 At2teltl 19,020 4,500 14,520
oget=ZH| 19,020
OREY 2% L SHUADE 7Y
4,500,000 4,500
ORFHTIEX =X WAl
198, 0002 *40JH (S &1 & )+55, 0002 *8IH* 157
< 14,520
2 35244l 123,218 122,030 1,188
08&82= £ HA 123,218
OLEtHs AIZ= 6.,400,000& 123 76,800
ORUZE AIE= 80,0008 13| 123 960
OS4ds3d s
24,0003 142 &+ 123 4,032
O gsld ALZ=(0ll)
50,0003 +53| 618 250
OUOIHEES2d AlEE
200,0002 x12| 6123 2,400
OSZIHE! LIRQIRC OIEY AIB2
29,0003 x122| &= 123 4,176
OAH0IZ VAIE=
4,500 x163| & =128 864
ORALSI| sHAES
300,000 62| &+ 123 21,600
OXAHI AL MEIA AIBE
1,000,000& 1= 1,000
OxNHHY 2lHAIES
30,0002 12| &+ 123 3,960
OCIEHEEBIE 3HAIER
400,000 * 12| &H* 122 4,800
OZ32H0IIt0l BIHMEZ
33,0002 x62] &4 12 2,376
F2SCAE RX2el 169,905 173,641 A3,736
201 er23| 169,905 173,641 A3,736
2 5234l 169,905 173,641 A3,736
OAEEBIS X 169,905
O MSHAHI(IPLED| X STHEH])
362, 172,300 *141+8/100 28,174
O NMetE| RIIEHI(ZE & =HAl
AH) 37,280, 0002 *141+8/100 2,983
OUIERIZEHI(L4,13,L2A2AXI)
863,955,490 *141x8/100 69,117
OUIER 22 A2 (NMS)
30,578,000& *141%10/100 3,088
OUIEAZE 22X O Al A& (NAC)
148,346,000 *141%10/100 14,835
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2A:

B HOSLALO DT
ot FES4 2el (EEEE))
A BB G2 (3H) - HIRAY - B2 Ofl AroH ﬁﬁﬁ HDE2
O S 3HAHI(VPN)
74,844, 0002 *1A1%8/100 5,988
Q&I T AIAE(IPS)
31,900,000 *1CH*10/100 3,190
ODDOSCHE Al AE!
48,726,400 «1CH*10/100 4 873
OUHIE eI (A A
41,508,600 «1CH*10/100 4,151
OUIES T a8 (QIE 12
30,800,000 *1CH*10/100 3,080
OUIEQ D Eim! ZUP|AIAE!
52,250,000 *1CH*10/100 5,225
O&E KHEHAA|AE
42 044, 3002 *1A1%8/100 3,364
OFBYBAILE
22,952, 3002 x141%8/100 1,837
OPHETHETAIAL
56,783,210 x1A1%8/100 4 543
OEiEC-r=]]|
12,496,0002! x2(H*8/100%9/ 12 1,500
ORAMEAZX| (AHSHD |2 18TH)
38,190, 0002 x1A4!%8/100 3,056
OYAS| O Al A&
15,510,000 = 1CH*8/100+9/ 12 931
OAFRAITHEIX] & HASAAIE 014
2,000,000 +53] 10,000
HEEAl T} = 373,000 60,500 312,500
HESAAIL SUEH 373,000 60,500 312,500
405 KHAFRI S H 373,000 60,500 312,500
01 AL EEFSHI 373,000 60,500 312,500
OXMY=SEFSHI 373,000
OHZEAY =SZH| WA
47,000, 000& *2CH+2, 800, 000& +20CH 150,000
OLZ HAXHEHAAAE DA
90,000,000 90,000
QX SHECHHAIAE D&
133,000,000 133,000
HESAASEHAA 2,600 2,600 0
HEEA AISEAA 2,600 2,600 0
201 LBt AH| 2,600 2,600 0
01 AFR22t2|HI 600 600 0
O1l=2d| 600
OANBHZAN HEzed 2e=
150,000 x2 % «23| 600
02 22294 2,000 2,000 0
OAIEEH|IKRXIH] 2,000
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e
Bu: HSEMALY DEs)
ol IESUMSHBA (CHol: &S1)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
ONSTLAr ASHY|
2,000,000 %14 2,000
ARIQHEAIE D&t 631,788 768,850 137,062
Al 32,000
- 599,788
A2t E Y AR5} 631,788 768,850 137,062
Al 32,000
- 539,788
CCVESE 2 M2 631,788 768,850 A137,062
Al 32,000
- 599,788
201 eer23y| 494,788 600,850 /106,062
01 AtR2t2|HI 5,063 5,063 0
Odgt+=h| 5,063
OZE2AeIMbIA AIZE
33,0002~ 12 3%
O&==JINbIA OlE=
28,900~ 12 347
OCCTVS et 2Nt g 2]
60,0002 x6& 122 4,320
02 s3=gHl 489,725 595,787 106,062
0Z332= % HMAl 139,900
OV dE2d AEE
180,000 *152| & »12&+35,400,000& 67,800
OCCTV &IIAEE
6,500 70004 2=+ 123 54,600
Oet=dHIA BHEEH AIERS
5,000& *3,500= 17,500
OA&EHIs X 349,825
OZHAIAE RS2 150,993
SESMAIAE 529,625,541 6% 31,778
- 2HERE(UERAE 2 ML 28
306,771,756 *10% 30,678
SgAEelX 799,059, 1822 *6% 47,944
SHIXEAIAE
9,282,521 6%t25, 452, 2402 *10f% 3,103
- ADIEEZHMAIAE
156,623,514 +6%+280, 918,000 *10% 37,490
OSEZBAAE RXE 178,832
- CCTV 2t0llct 2,240,202, 8493 6% 134,413
- NSRS OIAAIAE
198,864,373 & x6%t+40,850,911& *10% 16,017
- ADISAY eld £l
213,856,081 *6% 12,832
ADISAY HIESRD £4|
248,324, 7043 6% 14,900

_12_




A BIAZED
I3 ASloE AL D5
Rl AleltE e 2E25} EER=E)
SN - B CRI(S]) - NISAY - BES A HIm=S2t
HI A Al A EY 11,159,970 6% 670
OZHOIZ 0l& BA
10,000,000 & 23] 20,000
401 A& HIZLS0HY| 137,000 168,000 A31,000
Al 32,000
- 105,000
01 AlEHI 137,000 168,000 A31,000
OAlI&H| 137,000
OAMEIMOCTY A XI(F2IRIHAIY 7 &0
&) 75,000,000 *14] 75,000
OMEOHMOCTY EXI(F2HMOAYE S &0
&) 32,000,000 14 32,000
Al 32,000
OHMEHMCCTV A X
15,000,000 x2JH 2~ 30,000
HY2IZH|(QIAFE) 08, 104 899,753 8,351
ol 2| 826,385 818,034 8,351
Q14| 826,385 818,034 8,351
101 2124 d| 714,081 751,562 A37,481
01 2= 140,441 138,067 2,374
QA 2R4E 140,441
OL=1 12,3213 *3BA1 25T+ 123 25,875
orag 11,1303 *3BA1 2128« 123 56,096
O8= 9,992 x3bA| 2H 0« 12 37,770
O=; 9, 160 *35A| 2H4H + 123 15,389
OX <S4 H| 132,753,600 *4% 5,311
02 JIEt& &2 37,585 32,259 5,326
OWEA AIZIMEIHAI NS (02) 37,585
(@R 29,194, 7953 114 29,19%
OAIZt2I22+Y
9,160& *15A 2h 1« 123 1,649
OX <44 H| 29,194,795 x4% 1,168
OExARE 194,330 1F+ 122 2,332
OJEsY 240
JIENFE 20,0003« 1Y« 12& 240
OFAHZ Al 140,000 x1H 123 1,680
OS2 4|
(2,530, 2162 *B4%*86%) *1/30* 11 671
O4UEE AMERRES 650
NEZE 37,125,800 *1.75% 650
03 SR (RIHL) 22X 536,055 581,236 A45,181
©CCTV ZtHIAL 536,055
OJl22(ns =)
9,6202 191 Al 2H+ 12 x102%* 165 359,841
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2A:
T ZH -
o e

=aak

el sin ]
AY2SZH(UAZL)
ol 2|

= - q LS
SN - BB SRI(BIH) - NISAY - BES O]t e HlRE2
OJlg+=2(HHZAH|, nEHI)
260,000 x 16+ 122 49,920
ootz
11,3043 x50%+7 Al 2 H+4 B 365 57,764
Osdzzag(22Y)
11,3042 x150%+7 Al 2h*12F x 17 24,214
Ofd2zg(§2Y)
11,3042 *100%+7 Al 24 H 4 1,267
OAX0IANESE
11,3043 +7 Al 2H 16 x 16 20,257
O&o=z 300,000& *12 %16 4,800
OZEFIHI
9,812 x191 A| 2h+30%+23| * 16 17,992
204 2= AY| 1,628 1,523 105
02 Hs=E2x| 1,628 1,523 105
(OFESI=1ENG] 1,628
OAZIEE RN S2A (02
155,000 12 *35/40A1 24+ 12& 1,628
N HASREES 110,676 64,949 45,727
04 SREA(PIIHL) 22X B82S 110,676 15,985 94,691
OCCTVEMIAL =213
581,433,000& x4, 5% 26,165
OCCTVZHIAL HZESH
581,433,000 *3.545% 20,612
OCCTVZtHIAL 2R E
20,612,000 %12.27% 2,530
OCCTVZNAL NEEERLEZ
581,433,000 *1.75% 10,176
OCCTVZtMIAL At THOHEE =
581,433,000 * 1% 5,815
OEIXZHAEZ 2,836,065 * 16 45,378
[2Zdl 81,719 81,719 0
J|123&H| 81,719 81,719 0
201 L2 | 25,379 25,379 0
01 ArR2eltl 23,760 23,760 0
Oget=2| 7,920
oL VIE-ER-11]
(25,0002 33 +128 )+0.8 7,920
o=gt| 15,840
OE2z4lll 8,000&*33H +54!x 12& 15,840
02 E324H| 1,619 1,619 0
oRERI 1,115
OgeteH 4302110244+ 123 52
osJ|IsH 2,5302 3521128 1,063
OloT ADE HIAY AIAE AIRZ
42,0003+ 122 504
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SN PRNED
M HYRAZH(DYFFED)
&l D122 (CH9): &S
2 - IE!
SN - B - SRASH) - MRA - BAES ol &t e HIDSZ
202 04l 51,360 51,360
01 2LHoIH 51,360 51,360
OJ|=2gFF0il
(180,000 212 =122 )+(50,000& x 10 x12& )
51,360
203 =] 4,980 4,980
MU A2 LRSI 4,980 4,980
OFANE=HE =AY
(400, 0002 122 )+(5,000& *3& * 122 ) 4,980
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